Name

PRECALCULUS HANDOUT
Domain

State the domain and range of #1-4. State the domain only of #5-18. Write your answer in interval notation

when appropriate.

N
.

it ; I o 64
‘q\ |
L ™ 1 ~—
AN \ I
4 AY \ 1
é PN a3 1
S + \ - / i
i H
[ l ]
x+6
5. f(x): x+4 6. g(x)=5"—" ST
X —3x-—

7. h(x):4x5—3x4+2x2+5x—8 8. k(x):\/x2+2x—8

3x+1 ;

11. k(x)=+/4-3x 12. p(x)=+x"-3x-28



x=3

13. f(x)=

x> —8x+15
15, dx)=322"7
x“+1
4/ 2
17 _Vx —49
v(x) x+9
1. D: [0,00) R: (—o,1]
2. D: (-5,5) R: (0,4]
3. D: (—eo,1]U(4,0)
R: (—4,)
4. D: (—w,—lle(3,7]
R: (-e0,5]U[7,9)
5. [-4,)

14.

16. m(x) =1’23i5

18. z(x)=

ANSWERS

7. R
9. x#-4,4

r(x)

x+2

7—x*

Vx+4

14, (—ﬁ,ﬁ)

15, (—o0,00)

17. (~2,-9) U (~9,~7]U[7,0)

18. (-4,7]




PRECALCULUS HANDOUT Nesme
Functions Operations & Domain

Given the following functions, perform each operation to create a new function, and then state the domain of the
new function. Write out the domain of each individual function before beginning. Remember to consider the
domains of the original functions when stating the domain of the new function!

f(x)=\/;:~_2 g(x)=x"-4 h(x)= k(x)= m(x)=v9-x’

Domain:

3, (-&}(x) 4 (g01)(x)




5. (mo f)(x) 6. (hoh)(x)

7. (FoR)() 5. (hoko £)()
ANSWERS
Domains of original functions: 4. x-2; [-2,)
S [-2,0)
g R 5. V7-x;[-2,3]
h: x#-2
k:x#-2,2 Ox cx#E-D ——
S5x+4

m: [—3,3]

. [5x+4 [_f‘_ oo)
I 1 x#%-2,2 AN e
2. 3x*—6x; x# -2, 2

8. (— ,i)u(i,z)U(z,w)

"+ 2x% —4x -8 X3 22

3. al s x#—-2,0

3x




Assignment:
1)3 4) 1 from each part
2)5 N1
J)ac2  6) AlINU
d-i5 1

1. Express the following in interval notation.

(b) [-11,8)N[7,70]

(@ (~,5]U(2,18)

PRECALC REVIEW
Functions

. Determine whether each of the following is a function.

@ {(11-2) (-57)(-2-2)(83) (=5))

() 4x=5—y2
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(d) 5—-4y=3x"
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. Give the domain and range of a-c and the domain only of d-i.

@ . /i/'

(d) y=-—v49— 2

_ Ax+7
3x*—x—4

(e) y

(¢) x<landx =11

Name

(d) x>-4orx<-3

() {(8.-7) (~7.8)(0,0)(~4,1) (1,~4)}

(e)[yl =2x

~ /,

+—

Domain Range




. _ [ 2x-7
(1) m(x)_ 4x2 _9
4.(a)If f(x)=3x"-2x-5, find @) £ (-4) @) f(27).
0 ifx<-1
) If h(x)={4x" -7 if -1<x<3 @) h(%j (i) 2(-2)
2 ifx>3
LX

5. Find two functions fand g such that ( fo g)(x) = h(x) :

3

@ h(x)=4x*-7 () h(x)= x3x+7 (©) h(x)=(8—x)" +3(8—x)-1




6. Find the domain of each of the given functions. Then perform each operation, simplify the result, and state the
domain of the new function.
f(x):-———————-x_l g(x):--l h(x)=~4-x k(x)=x"—1 m(x) =vVx? -9

x+1 X

oftho

(b) (ko h)(x)

© (g-/)(x)

(@ (e £)()

(e) (me h)(x)



7.

S

~

Solve the following systems of equations using matrix equations.
(@ 8x-—5y=-157 (b) 7x—14y+19z=-1040
7x + 11y = 124 3x+15y—-222=1031

- 25x—-8y—10z=-304

ANSWERS

(@) (—=.18) (b) [7.8) (c) @ (d) (—oo,o0)
(a)no (b)yes (c)no (d)yes (e)no (f) yes (g) no
@) D: [~400) R: (=oo,00) (b) D [-54] R [-32] () D: [4,-1]U[1,e0) R:(~e0,-2]U[0,4]

@ [<7,7] (&) x -1, f;- ® x#42 (g) x;&i% (b) ("“"%)U(3’°°) (i) (_%%}JBOO)

@ @) 51 Gi) 126 =42 =5 (b) (i) 2_(1) (ii) 0

(a) f(x)z&‘/;; g(x)=x*-7 (b) f(x):;j—r]; g(x)=x" (© f(x)=x+3x-1 g(x)=8-x

%

(Other answers are possible.)
Domains: f:x # —1, g:x # 0, h: (—o00,4], k: (—00,0), m: (-0, —3] U [3, )
2 A .
@) (éj(x) :%:li x#=10 (b) (keh)(x)=3-x (~0,4] (© (gof)(x) =§;_*—i x#-1,0,1

@ (her)(x)= /3;:15 (_wawﬂkj(—m] (©) (moh)(x) = V—x —5 (—oco0,~5]

@ (-9,17)  (b) (-12,33,-26)



